EARAROBEEIERT — 2 N— IBISH —F

201953718H (A) 20EAFH1H

IR >%—fk C3A+ \ [X2) W \ [EmmEl  — | 4 () 12000 &

[A~&£] 17 :800,000  ~ 23&:320,000H ~ 33 :200,000H ~ 43:120,000 ™ 5 & :80,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o F#se 1:16.4 4-3 39.5| — 2 501 | FREEANE (KFH)
T — Ll R A 16 Hoohs
QNS BIFTLTOLY = %2 | s
. “ o > KHEZ 1:16.7 1-1 01| — 1 456 | ARSI (HE)
ZEY v Y RIS— bk e e z
: 13/4 3 (R) J P N+
LTNTFNZL2 B:oUXaArIUT b ( ) e AXFRBEFLASERBES
Ut 44 t4 €4 %ﬂokiﬁ 1:17.1 13-13 | 38.7| — 5 | 457 gﬁiﬁ G2
. 2 = 3
R:VamFLTIL—F Bk HTLEoY @ | s
S F5 4 5 | PREFE 1:17.2 1-11 39.4| — 4 415 | ETHBE (KH#H)
[ PZA = B.Oo rFq4> TR
— S 4 5 | REEF— 1:17.5 8-6 40.0| - 3 455 | AR (KH)
TV TA5 X 54.0 (1 1/2) +1) EBEE
R:7—7 74— B:X¥—bLTF1— HBE77— L4
. i 5 | AEEX 1:17.5 16-15 [38.8| — 10 | 430 |3fEE (K#H)
?\_/77.'—'\)( . ) R 54.0 (7€) 1) i}?’%m“g’
L:7UF—v B:FyvIFRES A e
N 5 4 5 | HEAKEE 1:17.6 10-8 39.9| — 9 457 | AR (k)
1112 armresexs mes—inn (v o |ZHRE
: TIRX% Bif—LAR—=nx Sl
. Pl B4 | REEE 1:17.8 7-7 40.3| — 16 | 428 |BEME (KH)
8 11 7[//9:7')/"ZZ 54.0 (3/4) » A EE
] R:g4 8o -Gy B:T7I2FTULER 0 | X% 571
= = s 4 | BEARE 1:17.9 2-2 M3l - 12 | 455 |EEMME (KIH)
9159 VA A A 54.0 g€ _ LR
QIZTT—RLRIT— b BT N—AF e 18 5 T kg5 — .
10/5/10| *B—R 7 LA /N= 5 | BIEA (11:118/.22) 1212 (402 — | 6 | 444 %I;lg; (x#)
AZ:Broken Vow #£#:Equilibrate -6 Pin 0ak Stud, LLC
7y B 5 | HHE 1:18.4 5-5 N3 - 13 | 430 |BRE (K¥H)
11 5 Y7/ 7Tk %¢53.0 11/4 ch]l| =8B
] L:O0—- K751~ BAEFTTILT-X ( ) (#3) FLENI
ST B 4 | HilEThEA 1:18.6 3-4 08| — 7 382 | BRI (KH)
128115 ;:;'771}'7:7”52 B eI/ hEA o0 i -9) :éi) Uil
= _ 6 | BEE 1:18.9 6-10 M6l — 14 | 467 |&EEH (KH)
18] 7{13| PVT A TTN=0b 54.0 (1 1/2) o) | EHEA
LN—HINK BTIRAL—> h&FHhZAFT—TI
_ = s 8 4 | RAE 1:19.0 9-9 Mn.3 — 15 | 443 |EEMME (KIH)
:AYaiz-gy—X B:a—-)R7Or b KT 7 — L
= > 4 | EHEHD 1:19.3 14-14 40.8| — 11 435 | HIAEE (IME)
KN ;E.f/r_;{ 7 %0 (13/4) (o) |FEE
TA Zh1 BT RIAYT 17 IR H*
N — 4 5 | EHA 1:19.6 15-16 | 40.9| — 8 501 | dEEFE (IvE)
16/8116 f/;:;;vifia B:T5y TR oo e 48 | hg s
N . 2 7 pums
@ 1—F—@&BIEf
13—7—
23—7F—
G§a=7r= 8,9,15,4,5,13,11,6,7,2,14,10,3,1,16,12
41—+ — 8,9,4,15,5,6,11,2,7,13,14,10,3,1,12,16
[ RN
B OB 4 350H 714K 4-8 240M e & 2-4 420M &R 3-4-8 2,350
8 B 4 140/ 3-4 1,040M B 2-4 1,050M JEH 4-8-3 10,780H
8 120/ 3-8 840M B E 4-8 450
8 370M B H 4-8 1,180

ABICOVWTRDTEEERROODE. TR LIV,




